........ BLD-55-A

-16/10/10

~ March 2014
B. A LL B. (5 Y. D. C) Ist Semester Examination

LAW OF TORTS INCLUDING M. V. ACT AND
CONSUMER PROTECTION LAWS
Paper V]

Time 3 Hours) ' " IMax. Marke 80

Mz Al e ¥ swe @R ) wh we st E )y o e v R
' 60 fifrz wfafoer emg & wgafa v )

Answer any five questions. All questions carry equal marks. The blind candidates
will be given 60 minutes extra time,
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Define Tort and explain its eseential elements. Distinguish tort from contract and crime.
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How far valenti non fit injuria’ iz a #ood defence against an action in tort ? Explain with
decided cases. http://www.davvonline.com
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Explain Defamation’ and its ezsential elements. What defences are availabe to the defendant
in an action for defamation ?
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Define ‘Negligence' and discuss its essential ingredients.
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Explain the principle of absolute linbility and distinguigh between abzolute and strict liability,
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How many kinds of damages are thare ? What are general and remote damages ? Explain.
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"Malice cannot convert a lawful act into unlawful.” Discuss the statement and explain the

exception to this principle.
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Writ« rhort noteg on any two of the following :
(a) Juint Tort Feasors (b) Wrongful Confinement {¢) Unfair Trade Practices.
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Explain the important provisions of Motor Vehiclo Act, 1988,
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Define ‘Consumer’ and explain the rights w the consumers under the Consumer Protection
Act, 1956.
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